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UGC NET PAPER 2 NOVEMBER 02, 2017 SHIFT 1 ANTHROPOLOGY QUESTION PAPER

This papor contains fifty (50) objective type questions of two (2) marks cach. All questions
are compulsory.

Who among, the following is a Neo - Lamarckian ?
(1)  Alfred Russel Wallace (2)  T.H. Huxley
(3)  ].B.5. Haldane (4)  Geoffroy Saint - Hilaire

Which one of the following is an example of non-probabilily sampling ?
(1) Snow-ball sampling (2)  Simple random sampling

(3) Stratified sampling (4)  Cluster sampling

Neanderthal fossil was first described by
(1)  Raymond Dart (2)  Schaafthausen
(3)  GJILR von Koenigswald (4)  Eugene Dubois

The first discovery of human-like foot prints embedded in fossilized ash was made from :
(1)  Fayum Deposits, Egvpt (2)  Makapansangat, South Africa

(3)  Laetoli, Tanzania (4) La Chapelle - aux - Saints, I'rance

According to whom process related to socio - cultural svstom consists of three aspects - Techno
- economie, social and ideological ?

(1)  J.]. Bachofen (2)  E.B. Tylor
(3)  Lesliec A, White (4) V.G. Childe

Who formulated the widely accepted cvolutionary classification of social types mto Band,
Tribe, Chiefdom and Stale ?

(1)  A.L. Kroeber (2)  Elman R. Service
(3)  B. Malinowski (4)  N.K. Bose
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Which one of the following Commissions reviewed the operation of Ashram Schools 7
(1)  U.N. Dhebar Commission (2)  Kaka Kalelkar Commission

(3} Shilu Ao Commission (4)  B.I’. Mandal Commission

Kula ring, a ceremonial exchange of ritualistically valued shell ornaments, and various items
of cconomic necessitics, 15 an example of

(1)  Generalized reciprocity (2)  Negaltive reciprocily
(3)  Balanced reciprocity (4) Market exchange

Which one of the following materials is suitable for Potassium-argon dating ?

(1) Varves (2)  Parchment (3)  Tree ring (4)  Brotile

Oldest known stone tool was found in:

(1)  Kenyva (2) China (3) Tanzania (4} Indonesia

Which of the following are the features of the Darwinian Theory of evolution ? Use the given
code,

(a)  Darwin coined the term “Survival of the fittest”.
(h)  Darwin could explain the origin and cause of variations.
(¢} There is a struggle for existence,

(d)  There are Iimited environment resources.

Code :
(1) (a), (b) and (c) are correct. (2)  (a) and (d) are correct.
(3) (¢} and (d) are correct. (4) (b}, (c) and ({d) are correct.

Which of the [ollowing are the features of the Rh blood group system ? Use the code given.
(a) It was discovered by Landsteiner and Wiener.
(b)  Naturally occurring antibodies are present in this system.
(c)  Lrvthroblastosis mav occur because of materno - [etal Rh incompatibility,
(d)  Mongoloid populations have generally a high frequency of Rh- negative people.
Code :
(1) (a) and (<) are correct, (2)  (a), (<) and (d} are correct.
(

(3)  {(c) and (d) arc correct. (4) (b}, (¢) and (d) are correct.
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Which of the following is/are true of the Homo habilis 7 Use the code given.
(a)  The first discovered specimens of Homo habilis were found at olduvai Gorge.
(b)  Louis Leakey and Raymond Dart made the first discovery.

(¢)  This specimen represented a hominin with a large brain and smaller teeth than that of
Australopithecus.

(d)  The fossil was found in association with stone tools.

Code :
(1) (a), (b) and (d) arc correct. (2) (b, (c) and (d) are correct.
(3} (a), (c) and (d) arc correct. (4)  (a), (b) and (c) are correct.

Which of the following are the characteristic features of Orangutans ? Use the code given
below :

(a)  They arc found in Sumatra and Borneo [slands of Indonesia
(b)  They have relatively small tails

(c

po—

Birute Galdikas did pioneering field research on Borneo Orangutans

(d)  Sumalran and Bornean Orangutans are quite different morphologically

Code :
(1) (a), (c) and (d) are correct (2) (b)), (¢) and (d) are correct
(ﬁ}\} (a), (}J) and (‘L) are correct (—1—) {a) a]'\]d (h) arc correct

Which of the followine concepls were given bv L.IP. Vidvarthi ? Use code.
i {2 : "

(a) Nature - Man - 5pirit complex (b)  Cultural relativism

(¢)  Great and Little Tradition (d)  Sacred complex

Code :

(1) (a), (b) and {d) are correct, (2)  (a) and (d) are correct.

(3) (¢} and (d) are correct. (4)  (a), (c) and (d) are correct.
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The principle of social stratification is reflected in the formation of

(a) Class (b}  Caste ()  Clan (d)  Ethnic group
Use the code given below :

(1) (a), (b) and (c) are correct. (2)  (c) and (d) are correct.

(3} (b), (¢) and (d) are correct. (4) (a) and (b) are correct.

Which of the following are the common characteristics found among caste and tribe ? Use
the code given below :

(a) Endogamy (b}  Occupation (¢) Tanguago (d) Clan exogamy
Code :

(1) (a) and (d) are correct. (2) (b) and (¢) are correct,

(3)  (a), (b) and (c) are correct. (4) (b}, (c) and (d) are correct.

Who among the following did anthropologim] studies of Indian villages 7 Give the answoer
by using code.

(a)  M.N. Srinivas ()  N.K. Bose

(c)  Oscar Lewis (dy  D.N. Majumdar

Code :

(1) (b) and (d) arc correct. (2}  (b), () and (d) are correct.
(3) (&) and (c) are correct, (4)  (a), (b) and (¢} are correct.

Which of the following are lower Palacolithic sites of India ?

(a)  Chirand (b)  Chauntra ()  Didwana (d)y  Vadamadurai
Code :
(1) (b), (¢) and (d) are correct, (2)  (a), (<) and (d)} are correct.

(3)  (a), (b) and (c) are correct. (4) (a) and (¢} are correct.
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Which of the following are lower palacolithic sites of Burope ?

(a) Clacton - on - sea (b}  Abbeville

(c) La Madeline (d)  Le Moustier

Code :

(1)  (b) and (c) are correct. (2)  (a), (b) and (c) are correct.
(3)  (a) and (b) are correct. (4) (b}, (c) and (d) are correct.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Indicate vour answers from the alternalives below :

Assertion (A) 1 Most living non-human primates arc under threat of extinction.

Reason (R) : Human interference and activitics are destroving and shrinking their natural
habitals.

In the context of the above two stalements, which one of the following is correct ?
(1)  Both {A) and (R) are frue and (R) is the correct explanation.

(2)  Both (A) and (R) are true, but (IR} is not the correct explanation.

(3} (A) is true but (R) is false.

(4)  (A) is false but (R) is truc.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Indicate vour answers from the alternatives below :

Assertion (A) @ X - linked disorders that cause death before reproductive age are never seen
in females.

Reason (R) : Lesch - Nyhan syndrome, which is characterized by mental and motor
retardation, self - mulilation and an early death is seen only in males.

In the context of the above two stalements, which one of the following is correct ?
(1) (A) is correct, but (R) is wrong.  (2)  Both (A) and (R) are correct.

(3)  (A) is wrong, but (R) is correct.  (4)  Both (A) and (R) are wrong.
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (). Indicate vour answers from the alternalives below :

Assertion (A) : The distribution of ABO alleles varies from population to population.

Reason (R) : It is observed that infectious diseases play kev role in the distribution of
ABQO alleles in different populations.

In the context of the above two stalements, which one of the [ollowing is correctl ?
(1) Both {(A) and (R) are true and (R) 1s the correct explanation.

(2)  Both (A) and (R) are true, but (IR} is not the correct explanation.

(3} (A) is true but (R) is false.

(4)  (A) is [alse but (R) is true,

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Indicate vour answers from the alternatives below :

Assertion (A) : Nonsense mutations are due to repetitive DINA,

Reason (R) : Nonsense mutations do not affect the normal protein synthesis.
In the context of the above two statements, which one of the following is correct ?
(1) (A) 1s correct, but (R) is wrong.  (2)  Both (A) and (R) are correct.

(3} (A) is wrong, but (R) is correct.  (4)  Both (A) and (R) are wrong.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (). Indicate vour answers from the alternalives below :

Assertion (A) @ According to AR, Radcliffe Brown, social structure and social organization
are Synonymous.

Reason (R) : Social structure 1s the study of "arrangement of personnel’, and social
organization is the study of “arrangement ol activities” of the personnel in
the society.

In the context of the above two statements, which one of the [ollowing is correct ?
(1) Both (A) and (R) arc true and (R) 1s the correct explanation.

(2)  Both (A) and (R) are true, but (R) is not the correct explanation.

(3)  (A) is truc but (R) 1s falsc.
(4)

(A) is false but (R) is true,
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (). Indicate vour answers from the alternalives below :

Assertion (A) : Furo - American rule of descent 1s of ambilineal type.

Reason (R) : In an ambilineal descent group, equal rights, duties and privileges are
granted towards the father and the mother sides to all the members of the
group.

In the context of the above two statements, which one of the following is correct ?
(1) (A) is correct, but (R} is wrong.  (2)  Both (A) and (R) are correct.

(3)  (A) 13 wrong, bul (R) 1s correct.  (4)  Both (A) and (R) are wrong.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Indicate vour answers from the alternatives below :

Assertion (A) : A 'Kingdom’ is not called a “State’.

Reason (R) : A State must have a ‘government’ that has legitimate powers to exercise
physical force upon the wrong deers in the society.

In the context of the above two statemoents, which one of the following is correct ?
(1) (A) is correct, but (R) is wrong.  (2)  Both (A) and (R) are correct.

(3} (A) is wrong, but (R) is correct.  (4)  Both (A) and (R) are wrong.

Given below are two statements, one is labelled as Assertion (A) and the other 1s labelled as
Reason (R). Indicate vour answers from the alternalives below :

Assertion (A) : Primitive communism in terms of cconomy is found i a highly stratified
society.

Reason (R) : I a highly stratified socicty, members of the group enjoy cqual rights over
the sources of production owned by the group.

In the context of the above two stalements, which one of the following is correct ?
(1) (A) is correct, but (R) is wrong.  (2)  Both (A) and (R) are correct.

(3} (A) 13 wrong, bul (R) 1s correct.  (4)  Both {(A) and (R} are wrong.
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(1) (A) T2 g, T (R) ToId 2 | (2)  (A) AR (R) THI T E |

(3)  (A) 7T €, T (R) HE F 4)  (A) R (R) 3T T
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (). Indicate vour answers from the alternalives below :

Assertion (A) : The surge in world population during the Neolithic period conslituted a
major demographic shift in human history.

Reason (R) : During Neolithic Agriculture yielded more food per acre of land, which
allowed to support larger population,

In the context of the above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation.

(2)  Both (A) and (R) are true, but (R) is not the correct explanation.

(3)  (A) is true but (R) is false.

(4)  (A)1s false but (R) 1s truc.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Indicate vour answers from the alternatives below :

Assertion (A) ¢ Tree and animal worship seems to have found a place in the life of the
Indus people.

Reason (R) : People of Indus were very much dependent on animal hunting in the
surrounding forests of Tarappa and Mohenjodaro city.

In the context of the above two stalements, which one of the following is correct ?
(1) (A) 1s correct, but (R) 1s wrong.  (2)  Both (A) and (R} arc correct.

(3)  (A) 13 wrong, bul (R) 1s correct.  (4)  Both {(A) and (R} are wrong.

[dentify the correct sequence of the following racial classifications of the Indian people in the
ascending order of their being propounded by the under mentioned scholars.

(1)  B.S. Guha - E.F.Lickstedt - I'LIL Risley - S.5. Sarkar
(2)  TLIL Risley - E.F.Eickstedt - B.S. Guha - 5.5. Sarkar
(3)  B.S. Guha - 5.5, Sarkar - E.F.Eickstedt - TL.T1. Risley

(4) 5.5. Sarkar - B.S. Guha - E.F.Fickstedt - H.H. Risley
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-

A= 91 e QU T €, SH 9 T 1 ATUERY (A) 3R I I aek (R) &8 T ¥ AN 9 T
fasredi § ¥ 3aL 1 999 L

(e

APTRYT (A) :  FIIE FHTe F S afvas saen ¥ @g gfg 7 7ma fagm ° uw vgE
SAHIEIh g e s Tiad o |

ek (R) : el GTNIV] ST <k SR 18 UeER] H Ui Uahe YiH § AT S ure genl e
S STHHEAT i Tl foai |

I BT e o HeY ° W F-H WEl § 7

(1) (A) 3R (R) <H1 9l € 971 (R) Hel AT 5 |

(2) (A) FR (R) SHI Wal g, R (R) Wl =T e ¢ |

(3)  (A) HEI T, A (R) o7 ¢ |

(4) (A) e T, ATRA (R) Ul T

W

= 71 e feu o ¥, 0 8w A erfueRes (A) TR S5 1 9%k (R) FR T § 1 A fag T
Tohedl § H 39 &l 999 i

AMTERAT (A) - THY AN 6 SiFA H g o1 T SUEAT & U Tk H1E Hoild 2l 2 |

Teh (R) : THY o I g2 3T Higdsiegl 98U o g & o qg] B o
B TH < . + ¥ STH-9T" % 7 § 9] ER W Tt
a4z o |

390 g Ry % Hed H W SH-"T WE © ?

(1) (A) ¥& ¥, g (R) 7T 7| (2)  (A) 3R (R) THi T&l § |
(3)  (A) e ¥, T (R) T T (4)  (A) 3T (R) TH 7erd B |

L

GAE SHa] <h TATeIRigd Ui aiehid (IHae FAaEimhd ) i A= Stodtidd A=daqist gl
2Tk UfdasT & Tg! T8 § Y89 Hife

(1) F.TF. 7TE - U, TREee - Ua. A e - Ty 9ER

Ayt

ok

(2) U= e - 3.0, 3R "ge - F1.09, gl - TH.UH, TN

i |-

(

(3)  SLUH. TE - THIH. $ER - TUE TR - UHE. T, e

-

(4) UH.TH §RR -SLTY. T8 - 3.UF 222 - TH.04,

L
.
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Identify the correct sequence of the following land mark developments in the field of genetics
in the descending order of their being given use the given code :

(a)  One gene - one protein theory
(b)  Completion of Human Genome sequencing,
()  In born errors of metabolism

(d)  Development of PCR technique

Code :
(1) (d), (), (b), (a) (2) (b}, (d), (a), (c)
(3) (<) (&), (d), (b) (4)  (a), (¢), (b), (d)

Identify the correct sequence of the following Upper Paleolithic Men in ascending order of
their discovery. Use the given code.

(a) Rhodesian Man (b)  Grimaldi Man
(¢) Cro- Magnon Man (d) Chancelade Man
Code :

(1) (@, © (), (b) (2)  (b), (d), (@), (¢)
(3) () (d), (b), (a) (4) (), (b). (@), ()

Arrange the following scientific journals ol anthropology in the ascending order of their
establishment use the given code :

(a) Indian Journal of Physical Anthropology and Human Genetics
(b)  The Oriental Anthropologist

(¢} Man in India

(d)  Indian Anthropologist

Code :

(1) (@) (), (d), (b) (2)  (b), (d). (c), (a)

(3)  (d), (0), (a), (b) &) (), (d), (@) (0]
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o = >

SAANYTR] (SA{ea) <k &3 H§ TaeAleTigd Aeca ol J2AmRH] bl Sk o0 0§ § Wil 3eNEl %A |
TEEM FIfu | A {60 70 w2 1 yAn FHife

L=

(a) Uk SH-Tah & fHgld

(by HHE S fet-gT i e (e )

(L‘j RUICER (QEIG;I&’IM'H) =1 ST ;l..ﬁ{

(d)y  OrHTSAN, deheleh k1 TR

<he
(1) (d), (), (b), (a) ) (b), (d), (), ©
B) (@ (@), (), ® 4 (@), (@ () (@

frefafad Qi gesi (Ufasreiiees 09) &1 ITH @Il & 981 AR %0 H 9gad S| 7
U 7T %2 &1 FHNT iU |

(a) Tefor 79 (b) TomTeEt 89

(c) ShI-HTHA HH (d) AEeE T
HE

(1) (a), (<), (d), (b) (2)  (b), (d), (@), (¢]
(3) (), (d), (b), (a) (4)  (d), (b), (a), (<)

Ffasm =t frefatea fe vy afieet = 39 e % e w9 § safem wifan | = fag
T4 &2 T YA hifou

e -

(a) fedd SHa A fEiese Tyt T g sHize

by = e Uf%«rl qref i

(c) A ZA g

(d) zfema TymEfaEe

%

(1) (a), (c), (d), (b) (2)  (b), (d), (o). (a)

(3) () (©) (a), (B) (4) (0 (d), (a), (b)
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Arrange the following anthropological studies (field work) in ascending chronological
scquence

(1)

(4)

Torres straight expedition — Yale - Cambridge expedition — Trobriand expedition by
Malinowski — Andaman cexpedition by Radcliffe Brown

Torres straight expedition — Andaman expedition by Radcliffe Brown — Trobriand
expedilion by Malinowski — Yale - Cambridge expedilion

Yale - Cambridge expedition — Trobriand expedition by Malinowski —
Andaman expedition by Radcliffe Brown — Torres straight expedition

Andaman expedilion by Radcliffe Brown — Torres straight expedition — Yale -
Cambridge expedition — Trobriand expedition by Malinowski

Arrange the following books in ascending order according to the year of publication. Use
cade given below :

(a)
(b)
(©)
()

Argonauts of the Western Pacific by Bronislaw Malinowski
The structure of Hindu society by Nirmal Kumar Bose
Kwakiutl of Vancouver Island by Franz Boas

Affairs of a Tribe by D.N. Majumdar

Code :

(1)
(3)

(), (), (d), (©) @) (@), ®) (© @
(W), ), (b), (a) @ (O @), O) (@

Arrange in sequence the following human cconomic activities in terms of their emergence :

(1)
el
@)
@

Foraging — Pastoralism — Horticulture — Agriculture
Foraging — Pastoralism — Agriculture — Horticulture
Horticulture — Agriculture — Pastoralism — loraging

Agriculture — Horticulture — Foraging — Pastoralism

Identify the correct sequence involved in the study of sacred complex :

Sacred Geography — Sacred Performance — Sacred Specialist
Sacred Geography — Sacred Specialist — Sacred Performance
Sacred Specialist — Sacred Geography — Sacred Performance

Sacred Performance — Sacred Geography — Sacred Specialist
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FETeRed g s=ag-i (hioe 9h) ol SANE] el & TTHR ohH H SHefEd hifs

(1)

(2)

o)

(4)

I T2 faE - Jd-Fies Afyam - AfeAesn = 2feus fmm - Efaas Jed
T HSHH AT

I w2 ANYIN o WSS ged & HAeqm AfdaE o HioHeent = 2ifate s1fam
e fEgrel 31T

g Shterel 1AM — Hiest=hl =1 2ifene AfYaH — T2 9ed &1 29[ 1 —
T T fhEE

-,

Tefaes o9 =1 e e — 2| w2 ol — aa-fas sifym — Afaetst &

frAfafad qEae] &1 Ieh TR o @Y & TTHR STRE! 7 H Seed $ifwe | 7= KT 78 %2 &1

THN] hHiTel :

(a)
(b)
(©)
(d)

ehe :

(1)
(3)

ST BfAeh hl ST 31T € o2 UTafes

M TR " *1 3 Tt A% 65 aramE

Tl TSTH 1 FAHIZe A Sl SIS

(@), (b), (d), (¢] (2)  (a), (b), (¢}, (d)
(d), (c), (b), (a) (4)  (c), (a), (b), (d)

FefeTiiEd | Tl shl 37 3a99 o 3791 H e H SFelfedd =ity

)
el
®)
@

THE Tehs LAl (RRIST) — T9Med — arraEt — &

THE THT FHTHT — P — HT — FrraH]

AT — cé’llﬁﬁi —>= R = WHG Weh A el

h q o FATEAT g Uend enddl — H<[HlelA

L

qfersl Hehel (Hehe hivgols) o &g | Hiwford {7

(1)
2)
)
)

——

(3
(4

[y [l
|

NFd <h {21 %H ahi 92914 hifaly

- =, [ [ - o
qias el — TTa (Harhe™ — a3 9y

- = s Lo LA L
qiers el — dfers fagrms — ufas feamere

qfers Ta9ise — e Yiiel — 9= fhamehery

qfers feharenetld > Tfes Yiiel > afasl foey
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Identify the following pluvials in ascending order as per chronological sequence given in the
code :

(a) Gamblian (b) Kageran (¢) Kamasian (d) Kanjeran
Code :

(1) (©, b), @, @ 2 ®)©) (@), @

(3) (@), (b), (©), (@ @ (@) ©, o) (&

Select the correct sequence of appearance of the [ollowing stone tools in ascending order.
Using the given code.

(a)  Shoulder Celt (b)  Burin

(c)  Ovate (d)  Rhomboid
Code :

1) (), @) (), (@ 2) (@) (), ®), @)
B) (o) (b), (d), (a) @) @), B ©, @

Match the fc.‘n]lci}wing [ist - I with TList - I1. Use the code given below

List - I List - II
(a) Having similar traits due to (i)  Syslemalics
similar use, not due to shared
ancesfry

(b)  Branch of biology that describes (i) Homology
patterns of organismal variation

(c)  Branching diagram showing (iii)  Analogous
evalved relationships among
members of a lincage

(d)  Similarily of trails resulting from (iv) Cladogram
shared ancesltry

Code :

(@ (b)) (o |
0 B O B ) B (A
(2) () () (v) ()
) (v) () @ |
(4) @) @ )
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U 0 &2 | oA ok TR HAfEd g2 i SANEN A | Tg9 S0

(a) Tifeerd (b) FA () THHETT (d)
ohe

(1) (c), (b), (a), (d) (2)  (b), (0), (d), (a)

(3)  (a), (b), (c), (d) (4)  (a), (¢}, (b), (d)

A TSU T, 2 T IYANT FId gY HHTEd T ISR ohi 3eaTden] TRIE] %8 H =3 iy, ;
(a) T HAMCH Felel (b)  demi

(c) HERRR (d) HHFR HEY-FqUS

he

(1) (b), (@), (c), (d) (2)  (a), (c), (B), (d)

(3)  (¢), (b), (d), (a) (4) (@), (b), (¢}, (d)

el - 1 gl - 11
(a)  HTEH A TE ok HRIT AL, 1) Towufom (arfis fagm)

Sfeeh THM ITANT o HRO FAH 707 5]

by S faam =l oy, 5 Sifee f=ar o OfaEmEl (@) gt (gsaradr)
( ;

FT TUH FLA ©
(c) = o\ Gew % o famfag e (i) AT (HE)

h] T AT =11 STEUTH

(d)  HTH =9 G ok GROTH ST 10y (iv) TIEX

I T
<he

(@) (b) ()
(O @ )
(2) (i) (@) (iv) (@)
(3) (v) () (G
(4) ) @) (v) |
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Match the following List - I with List - II. Use the code given below :

[ist - [ list - Il

Autosomal disorder (recessive) i
Autosomal disorder (dominant) (i)  Rett Syndrome

(
(
X - linked dominant (i) Huntington discasc
X - linked recessive (iv) Cystic fibrosis

Code

(a) (b) (e} (d)
) ()
(iv) (i)
(i) (i)
(i) (v)

Match the fc.‘nllm-ving List - [ with List - [I. Usc the code given below

(a)

(b)

list -1 Iist - II

The amount of chromosomal (iy  Translocation
material remains unchanged
whilc the arrangement 1s altered

Involves the loss of a picce of (11) Duplication
genetic information

(c)  An extra copy of a piece of (iif) Deletion
chromosomal material is present

(d)  Genetic material 1s rearranged (1v) Inversion
between non - homologous
chromosomes

Code :
@) (b) () (d)

1) (v G @@

(2) (1) (i) (i) (iv)

(3) (i) (@) (v) (i)

(4) (i) (v) @) (i)

1) [esch - Nyhan Syndrome
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Tl - 1 &1 Gl - 11 o 91¢7 GHferd i | A= 79U 770 572 =1 3917 i ¢

(a)
(b)

(1)
(2)
(3)
(4)

Tl - 1 %1 Gl - 11 o 9127 GHferd i | A= f9U 770 572 =1 9917 i
el - 11

gAY H qiadT T U ORGH WEU w AT (1) gHelshyA

(a)

(b)

(©)

(d)

<he

=t - 1

stemma femstfey (wiaa) (i)

wferamga fegerst (eifga=) (i1)
X - feisre = (iii)
X - foisrg @i (iv)
(@) (b) (o) (d)

() @) (1) (v)

(tv) () (1) (1)

(iii) (i) () (iv)

(i)  (@v) (@) ()

8

e - 11

ey Teed fagm

- -,
-
ke =

Z(=212T Te=ie

qEizea wEaATHY

sufiafad wdl &

§HH SATARE =1 & Teh 9
=1 I Tl ©

{ il s

ORISR |HT 5 Uk 3197 1 U sifalaa
gfaeta (idt) Hieg w=dl

AT FHANTH O & il ST 91
T gAEtegd gl ©

@ (b)) (0
(iv) (i) (i)
() () (iv)
(i) @ )
(i) (v) ()

(11) N [h 3
(iiiy Tefervm

(iv) gAesi
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Match the following List - I with List - II. Use the code given below :

List - | l.ist - Il
(a)  Peptic ulcer (i)  HLA system
(b)  Ervthroblastosis fetalis (ii)  Dutfy Blood group
(¢)  Gene - flow studies between (iii)  Blood group ‘O

American Blacks and Whiles

(d)  Tissues malching for organ (iv) Rh, (D) blood group
transplantation

Code :
(a) (b) (e} (d)
(i) (1)
ay (1)
(i) (iv)
(iv) (1)

Match the fc.‘nllm-ving list - [ with Tist - [I. Use the code given below -
List -1 List - IT

(a) Priest (1) A part time religious practitioner whose primary function 1s to
heal people

(b)  Shaman (i) By magical practices attempting to harm people through
supernatural powers

(c)  Wilchcralt (iii) The use of certain malterials to invoke supernatural powers to
harm people

(d)  Sorcery (iv) A full-time religious practitioner whose authority is bestowed
upon him by the society

Code :

@ ®) (© (@
O 0 G (@ v
@) (v @ @ G
G) Gv) @) @
@ () ) () ()
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(a)
(b)
(¢)

eIl - 1

£ T . e
SHHARLTHH hallelH

Lin

=l - 11

LA

(i) TATAU fE=H

(i) S =T T

SRR Averd] SN vadl & e S

& goe el g

(iii) == Y9 AV

31 Y o foru od @ arl SAae

(a) (b)) (¢) (d)
() @ @) (i)
() (i)
() (v) @) ()

(iv) () () (i)

(iv) Rh, (D) =7e T4

Rer}

45, - 11 G - 11 % e gofera &1 = G0 T %2 6 wEe &

(a)

(b)

(c)

(d)

1)
2)
®)
)

eIr - 1

kSR (i)

BER| (i1)
faesrde (Sg-2M 1) (iii)
HIEL (A=) (iv)

(@) (b} (o) (d)
(i @) @) (v)
(iv) (@) () (i)
(iv) i) @) ()

(iv) () () (i)

T - 11

ek SAvEITers UTfhe 1A, foas 7@ &/ @ &l @
AT T

STelTfhas YIfeaal o ST <7 o] R UG o TATH ohi
ST gTd

ST o1 TeRdT TgaM o forn sreiferes vifaaal 3 fH- amfimt
1 TR

Ueh JUichlicleh ®THeR STardl, Toeeh FHS g WIiHehd Teran
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Match the following List - I with List - II. Use the code given below :

List - 1
(a)  The study of man
(b)  Structure of Hindu society
(¢)  Races and cultures of India
(d)  Cultural contour of Tribal Bihar
Code :

@ ® © (@
1) ) Gv) @
@ 0 G) (i) @
Gy Gi) ) () ()
@ Gv) ) () G

Match the ﬂ.‘nllm-ving [ist - [ with List - [I. Usc the code given below ;

List - I
(a)  The Forest Hunting Tvpe
(b)  The Hill Cultivation Type
(c)  The Plain Agriculture Type
(d)  The Simple Artisan Type
Code :

(@ (b)) (o (d)
1) () @) () (i)
(2) (v) (i) (O (i)
(3) ) (v) @) ()
@) Gy (v) (@ (i)

Match the ﬂ.‘nllm-ving [ist - [ with List - [1. Usc the code given below

[ist - [
(a) Revolt of the Tamar of
Chhotanagpur
(b)  Revolt by the Munda Tribal
Community under leadership
of Birsa Munda
(¢} The Kond tribe revolted in Orissa
under leadership of chief Bisoi
(d) Tana Bhagat movement in Bihar
Code :
(@ ® ()
M i) Gi)
Gy @ )
(v) (i) )
iy () ()

List - I1
Nirmal Kumar Bose
D.N. Majumdar
Ralph Linton
L.I’. Vidyarthi

List - II
The Mundas
The Hill Korwas
The Chik Baraiks

The Riang

list - 11
(i) 1895
(i) 1850
(i) 1789

(iv) 1913 - 1914
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Tl - 1 &1 Gl - 11 o 91¢7 GHferd i | A= 79U 770 572 =1 3917 i ¢

(a)
()
(c)
(d)

[N

(1)
(2)
(3)
(4)

G - 101 G - 11 = 919 gafaa =11 5= fgu 0 %52 =1 39 #1

E!

=l - 1

[ 8

T WE 3§

A ST Tevg I
O U2 shodd ATF 1241

SHe=lel el HAh 2R o8

@ ® (© (d
(i) (v) (i) ()
W) @ () )
(i) () (@) (v)
(v) () (@) (i)

= - 11

L7

iy e Far 9
i) LA HHER
iii) ok o2

iv) Weldr Ta=ned

et - 1

ERREEECARCETR
qaIfSdl T Wl 1 YR
quael &9 U el 31 T
HIEU] TUEYsHR F1 WK

(@ () (@ (@
(1) (1) (i1)  (1v)
(v (1) (i) (111)
() G(v) (i) 0
(my (v} (1) (111)

= - 10
() < HSH
(i) = &1 e
(i) & f=e =i
(iv) = Testim

- 1 =01 =T - 11 o &1 GAfAId s | 1= ST 7T e i1 74 i

el - 1
BIZARTYL & dMHR 1 To512
forear 41 % -gcd | g
SERIGRS R NREHE
qRgH fordrs & gl H s
STt o fagrg fomar o

fargd o JT1 97T 2TEe

@ (b) (© (d
B @) @D v
@ O 0@ @)
(v () (1) (1)
(i) (1) (iv) (i)

Tt -1
(i) 1895
Qi) 1850

(i) 1789

(iv) 1913-1914
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49. Match the following List - I with List - II. Use the code given below :

List - I List - II
(a) I.D. Sankalia (i)  People of the Earth
(b)  M.C. Burkitt (i)  Old Stone Age
(c)  Brian Fagan (i) Our Farly Ancestors
(dy  Francois Bordes (iv) Stone Age tools

Code :

@ (0 © (@
) Gi) (@) ()
iy (v) (i) ()
(v) i) () G
) G)  (v) ()

— —— —— ———
4]
ER— E R I

50. Malch the following List-I with List-II. Use the code given below .

[ist-1 [ist-11
(a)  V.N. Misra (i) Korta layer Valley
(b)  Dharani Sen (ii) Renigunta
(c)  M.LK. Murthy (i) Tilwara
(d)  V.D. Krishnaswamy (iv) Kuliana
Code :

@ (k) (e} (d)
(1)) @ (Gv) (i)
(2) (i) (v) G @
(
(

P —
T
1
o S
—_—
i
i
J—_
)
——

i) (iv)
4 (v) (i)

e
—
T
et
—
— s
g
e

-00 o0 -
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(a)
(b)
(c)
(d)

(1
&)
@)
e

Tl - 1 Tl - 11 919 goferd i | A= fau 70 2 61 94 i .

(1)
@)
o)
(4)

el - 1

U= 2], Hhied]

Ry dled

g - 1
IRt L
UH.Tel. . Hfd
(a) (b} (o)
(i) @ Gv)
(iii) (i) (i)
(i) @) (i)
(iv) () (i)

e - 11

(iy diger 3 < 31

(ily #loe W U

(iif)  STAT 3Tl TRH

(iv) &M US oH

La

= - 11
(i) TR TR ol
(i) I
(ifi) Tacremern
(iv) SFfeFmT

(d)

(i)

(1)

(iv)

(iif)

-0 o-
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